
Rev. 06/04/2024     DSHH009-XXX-XX

Note: Anchors are not included. For installation in materials other than solid wood or wood studs, 
use anchors design for your specific material and follow manufacturer's installation instructions.

Caution:

Wear safety goggles
Before installing:

Read all installation instructions.
Observe all local building and safety codes.
When drilling into the wall, exercise care to 

avoid any electrical wiring or plumbing 
that may be located behind the wall. 

Damaged electrical wiring can cause 
electrical shock and/or fire.

Item Description Qty.

A 8-32 x 1-1/2" FLAT HEAD 
TAPPING SCREW 2

B 10-24 X 1/4 SLOTTED SET SCREW 2

Tools needed

House Number Installation

10-24 X 1/4" Slotted Set Screw

#8 X 1-1/2 Flat Head Tapping Screw

Place rail in desired location and 
mark mounting hole centers.

Hold the rail in place with the rail
holes aligned with the drilled holes.

Attach with included screws.

Remove one of the small set screws 
at either end of the rail.

Do not discard.

Slide desired house numbers into rail.
Numbers sold separately from rail.

Reinstall set screw to prevent the
house numbers from sliding out

of the rail.

Drill 3/32" holes at marked 
mounting locations.

1 2 3

4 5 6

STOP STOPDO NOT RETURN TO THE STORE.
We are here to help!

Get fast support at support@libertyhardware.com



 

Precaución:

Prtez des lunettes de sécurité
Antes de instalar: lea todas las instrucciones 

de instalación. Observe todas las normas 
locales de construcción y seguridad.

Cuando perfore en la pared, tenga cuidado 
para evitar cables eléctricos o plomería 
que puedan estar ubicados detrás de la 

pared. Cables eléctricos dañados pueden 
causar choques eléctricos y/o incendios.

Nota: Los anclajes no son incluidos.  Para la instalación en materiales diferentes a la madera 
sólida o los montantes de madera, utilice anclajes diseñados para el material que corresponda 
y siga las instrucciones de instalación del fabricante.

Herramientas necesarias

Instrucciones de instalación 
de los números de dirección

 

Coloque el riel en la ubicación 
deseada y marque el centro de los 

agujeros para el montaje.

Perfore agujeros de 3/32” en las 
ubicaciones de montaje marcadas.

Sostenga el riel en su sitio, alineando los 
agujeros del riel con los agujeros perforados. 

Fíjelo con los tornillos que se incluyen.

Retire uno de los tornillos de fijación 
pequeños de cualquiera de 

los extremos del riel. No lo descarte.

Deslice los números de la dirección 
deseados en el riel. Los números se 

venden por separado del riel.

Vuelva a instalar el tornillo de 
fijación para evitar que los números 

de la dirección se salgan del riel.

1 2 3

4 5 6

STOP STOPNo devuelva el producto a la tienda.
¡Estamos para ayudar!

Obtén soporte rápido en support@libertyhardware.com

Artículo Descripción Qty.

A Tornillos roscadores de cabeza 
plana #8-32 x 1-1/2" 2

B Tornillo prisionero ranurado #10-24 x 1/4” 2 Tornillo prisionero ranurado #10-24 x 1/4”

Tornillos roscadores de cabeza 
plana #8-32 x 1-1/2"


